




























































































Profit Maximisation Theory of August Losch. 



•To get the maximum profit, as stated by 
Losch, total consumption is important. 
Higher the consumption rate, greater will be 
the profit. In this case, he emphasized most 
on the price reduction of the commodity. 
Any decrease of price would automatically 
stimulate the volume of consumption. This 
can be illustrated by the following diagram. 



•In this simple model, it is evident that when 
price of the commodity drops from R to P, 
the consumption increases from M to N. 
The theory of August Losch considered 
demand as a most important variable. The 
fundamental objective behind the theory 
was to find out the most profitable location 
for industrial establishment
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•To determine the location of maximum profit, 
Losch said, “The complexity stems from the fact 
that, there is more than one geographical point 
where the total demand of a surrounding district 
is at a maximum,………. We are thus reduced to 
determine separately for every one of a number 
of virtual factory location the total attainable 
demand, and for similar reasons the best volume 
of production as a function of factory price 
(Market and Cost analysis). 



•The greatest profit attainable at 
each of these points can be 
determined from the cost and 
demand curves, and from this place 
of greatest money profits, the 
optimum location can be found”. 



•Assumption. The area under consideration 
should be an extensive homogenous plane 
where raw materials are distributed evenly. s of 
the Profit Maximisation Theory: 2. The 
‘transport cost’ is uniform and directly 
proportional in all the directions. 

•3. The people inhabiting the region have a 
general homogeneity either in taste, knowledge 
and technical skill. 



•economic and career building 
opportunities are open and uniform 
to all individuals. 

•5. The population distribution is 
very even and the area is self-
sufficient in agricultural production. 



•the models developed by Christaller
and Lösch are very different 
because they result in markedly 
different systems. The permanent K 
constraint in Christaller’s model 
means that 



•all places at the same level in a 
hierarchy have the same business 
types, and all higher-order places 
must contain all the business types 
contained in lower-order places. 
Lösch noted that this does not 



•accurately reflect the spatial 
organization of central places in the 
“real world.” Thus, the model developed 
by Lösch presents a less definite 
hierarchical arrangement than does 
Christaller’s. In the Löschian system, 
settlements of the same size are not 



•required to have the same arrangement of 
business types, and higher order central places 
do not need to have all the functions available in 
lower-order places (although they will probably 
tend to have most of them).

•Whereas central-place theory provides great 
insights into the hierarchy of urban places, it has 
shortcomings. For one thing, these models are 
simply 



•descriptive in nature. Additionally, they 
do not take into account non-optimal 
human decisions, and fail to consider 
the historical process through which 
capitalism developed as the framework 
in which places come to positions of 
dominance. Moreover, central-place 



•theory deals only with relationships 
between consumers and producers in a 
region. It does not consider settlement 
patterns that are the result of long-distance 
trade between regions. Furthermore, 
central-place theory rests on the 
assumption of uniformity of space.



•Thank you



INDUSTRIAL ECONOMICS;

UNIT 3 INDUSTRIAL PRODUCTIVITY;



• Introduction:

• In  the  process   of  economic  growth,  
production   and  productivity   are  the  two  
significant   elements.  Increase   in  productivity   
in  an  essential   factor   for  stepping   up  the  
rate  of  economic   growth  especially   in  case  of  
an  under  developed   country   which  suffers   
from   inadequacy   of  capital , raw   material   and  
skilled   manpower.



• Rise   in  productivity   implies   rise  in  
production   which  reflects   rise  in  national   
income   and  economic  growth   rate. In fact   
rise   in  productivity   is  just   not  sufficient   
index   of  rise  in growth,  rise   in  productivity  
must  be  accompanied   by  reduction   in  
cost  of  production   of  every   additional   
unit.   Expansion    of  output  with   minimum   
input   implies   rise  in  productivity.



• The  concept   of  productivity: (B.B.Lal)

• Productivity    refers    to  measurable   
relationship   between  well defined  
output   and  input  between   the  
production   results   and  the   relative  
production   agents   in  both  the   financial  
and  physical   terms  in  relation   to  given  
time  and    condition.



• Productivity    refers  to  ratio  
between  production  that  is   (total  
output)  and   factor  used   in  
production  that   is  (input)



• Ewan  Claugue productivity   is  a  word  
which  we  use  broadly   to  express  the  
overall   efficiency  with  which   our  
industries   perform





• Russel. W. Fenske defines   the  term  

productivity  in  five  ways

• (i) Productivity   is  a  form  of  efficiency

• (ii) Productivity  is  the  utilization   of  

resources    or  effectiveness  of  utilization   

of  resources.



• (iii) Productivity   is  a  ratio

• (iv) Productivity   is  a     ratio  (rather  

than  a  phenomenon)

• (v)  Productivity   is  a    rate  of  return 

(primarily   in  monetary  terms)



• J.M.S. Risk    defines   productivity  as  

a physical   ratio;  it  relates   to  the  

quality   of   goods   produced    or  

services   given  in  comparison   with  

the   quantity   of  resources   

consumed.



• The   international   labour office  

productivity   as  the  ratio  between   output   

and   one  of  the  factors   of  input   is  

generally  known   as  the  productivity   of  the   

factors   considered.  This  productivity   means  

the  ratio  between  output   and  any  of  the   

factors  of  production   land, labour,  capital  

and  organization. 



•Thank you aal see you 
all in next class; 
VANKAAM;





Measurement  of  
productivity:



• productivity;  refers  to  a  relation 

between   output  and  input.

•

• 1.productivity =  Net output

• __________

• Effort   input



• 2.labour  productivity   =         Net  output

• ____________________

• Number  of  workers  or                               

• Number  of   man  hours  
utilized                                                                    

• Productivity   of  labour is  thus  a  ratio  between  
output  and  labour used  or   number  of  man  
hours  utilized.



• 3.productivity   of  capital  =       Net  output 

• _________________

• Net  capital employed

• Net  capital   

employed

• It  is  a  ratio   between  output  and  capital   

employed.



• 4. productivity  of  machine  =        Net  output

•

______________________               

• Total   machine  hours  

worked



• 5.Land productivity  =    Net   output

• ____________________     

• Number  of  hectares  of  

land

• Although    productivity   is  measured   in 

terms  of  all  factors   of  production,  that  is  

output   rises  in  proposition  to  rise  in  input.



• Although    productivity   is  

measured   in terms  of  all  factors   

of  production,  that  is  output   

rises  in  proposition  to  rise  in  

input.



• Labour is  selected   as  most   
important  element    to  measure   
the  ratio  of  productivity. When   
output   per  worker   is  increasing,  
the  economy   would   reflect   rise  
in  national   income   and   rise  in  
growth  rate.



• Defects   in  measurement   of  

productivity

• 1.it  is im possible   to  measure  

productivity   of  service   industries   like  

banking.  Insurances  etc. as  the  output  

cannot   be  directly  measurable   in terms  

of  physical  unit.



• 2.it  is  difficult   to  measure  productivity  of  

certain  industries  producing  heterogeneous  

products   like  chemical  engineering , electric, 

glass  industries  etc.

• 3.it  is  not  possible  to  take  account   of  

invisible   and  intangible  output  or  associated  

services  which  may  have  no   bearing   on  

current  production.



• 4.the  quality  of  labour force  is  not  

uniform  in  nature  and  therefore  

measurement  based  on  labour force  

lacks  accuracy.

• 5.the  difficulty  involved  in  the  

measurement  of  output  is  of  technical  

character.



• 6.it  is  difficult  to  bring  long  term  

comparison. Though   passing  of  time  

techniques,  method  of  production  

changes  which  influences  productivity.



•Thank you



• Tools of  productivity

• 1.use   of scientific   management  

technique  and  practices.

• 2.work, time  and  motion  studies  for  

scientifically  determining  better  and  

quickers ways  of  doing  a  job.



• 3.developing   better  human  relations  including  

the  modern  concept  of   industrial  sickness  

between  the  employer  and  the  employee.

• 4.provision  of  wages  and  bonus  incentives, 

adoption  of  collective  bargaining,  management  

workers  consultations,  workers  participation  in  

management  training  of  workers  and  labour

welfare   schemes.



• 5.adoption of  standardization , 

specialization  and  simplification   

programes in  the  methods  of  

production.

• 6.adaption   of  control   techniques  

(including  production   and  planning  

control), cost control,  quality  control  at  

each  level.



• 7.improvement  in  working  

conditions, material  handling  and  

plant  layout etc.

• 8.selection  and  training  of  

personnel  at  the  various  levels  of  

management.



• Factors  influencing  industrial  productivity

• 1.Technical  factor:

• Technologically   innovation   plays  an  

important  role  in  affecting  productivity. The  

application   of  mechanical  power,  introduction  

of  highly  specialized  and  semi-automatic  and  

automatic  machines.



• More   efficient  co – ordination  and  

integration  of  productive  processes  

specialization  are  the  factors  which   

have  contributed  to  the  spectacular  

advances  in  raising  of  productivity.

•



• 2.Financial  factor:

• Finance  plays  a  dominating  role  in  

affecting  productivity.  Innovation  can  be  

possible  only  where   capital  is  available  in  

abundance. Adequacy  of   finance  would  help  

to  accelerate  the pace  of  industrial  

productivity  especially  where  labour is  scarce.



• 3.Natural   factors:

• 1.agriculture  industries, 

• 2.extractive  industries  like  coal,

• 3. mining, 

• 4.physical  output  is  determined  by geological ,  

5.physical  and  topographical   factors. Natural  and 

climatic factors   exercises  a  vital  influence  on  the  

industrial  productivity.



• 4.Managerial   factors:

• Present  system  of   industrial  production  

management  plays   a  vital  role.

• 1.decision  making

• 2.laying   down  policy



• 3.organising  

• 4.planing

• 5.directing

• 6.controlling  staffing

• 7.coordinating  

• 8.getting  goods  produced  and  selling

•



• 5.social  factors:

• The   social – economic  institution  plays  an  

important  role   indirectly  to  promote   

industrial  productivity.

• 1.psychological   attitude  

• 2.behaviour  of  the  investors



• 3.employers  

• 4.workers

• 5.consumers

• 6.social  values

• 7.attitude  of  pessimism

• Their  attitude  to  adopt   themselves  to  the  
new  innovative  dynamic  changes   influences  
productivity  to  a   great  extent.



• Thus  the socio – economic  factors   such  as   

the  role  of  decision  making  capacity  of  the 

• 1. individuals  or  group  of   individuals,

• 2.  property  rights,  

• 3.consumer’s   sovereignty, 

• 4. living  condition, 



• 5.standard  of  living  of  the  people,

• 6.  family   system

• 7.religion

• 8.willingness  to  save  etc may  stimulate  or  

dampen  the  urge  for  higher  industrial  productivity.

Further  psychological  attitude  and  behavior  of  the  

investor,  employers, workers, and  consumers.  May  

adjust   or  retard   productivity.

•



• 6.Adminstrative  factors

• The   administrative  and  financial   

policies  of  the  industrial  productivity.

• 1.The  government’s  industrial  policy

• 2.taxation



• 3.traiff   policies  influences  the  

productivity  of  industrial  units.

• At   times  the  policy   of  protectionism  

may  prove  to  be    barrier  to  productivity  

and  at  times  it  may  be  beneficial

•



• 7.Quality  of   labour force:

• The  skill, experience, qualification, 

intensity  of  work  etc of  the  worker  have  

dominating  pull  in  influencing  the  level  of  

industrial  productivity.

• Wage,  working  condition, ability  of  worker  

influence  productivity.



• 8.Size  of  industrial  unit:

• When  other  factors  like  technology,  

labour etc remain  at  the  same  level  large  

scale  unit  as  a  rule  should   be  more efficient   

than  the  small  scale  unit. Generally   large  

units  spend  substantial  sum  of  money  on  

scientific, technical  and  marketing   research  

which  leads  to  greater  productivity.



•Thank you





• Significance  of  productivity:

• Industrial  productivity  is  a   

statistical  measurement  on  the  

basis  of  which  we  are  able  to  

measure   compare,  the  industrial  

capacity   of  various  industrial  units.



• Productivity   indices  reflect   the  industrial  

capacity   of  industrialist.

• Productivity  indices  at  the   national  level  

have  been   used  as  an  objective   and  

scientific   measure  for  forecasting   the  

trends   in  the apparising the  economic  

condition  and  prospects.



• Industrial   productivity  is  considered   

as  a  barometer  or  bench – mark  of 

countries  economic   and  industrial  

advancement.

• On  the  national  level,  productivity  
indices  are   used  to   evaluate  
whether  policy  of 



• protectionism  or   restriction  should  be  

adopted,  against   a  particular  industry.  

It   also   initiates    the  framers  to  decide   

the  taxation ,  industrial, fiscal  policy,  

along  with  social  labour welfare   

schemes  in  the  limelight  of  industrial  

productivity  indices.



• Productivity indices  also  assits in  

analyzing  forecasting  the  economic  

trends,  in  evaluating the   influence  of  

technological   changes   on  the  volume  

of  production   employment  and  in  

allocation   of  natural,  financial  human   

resources  which   would   maximize  

national  welfare.



1. Helps   to  make  comparative  

analysis

2. Helps  to  make  proper   

allocative distribution  of  

resources 



1. Helps  the  government  to  formulate  

policies.

2. Helps  to  make  an  analytical  appraisal   of  

performances   of  an  industry.

3. Helps  in  initiation  of  cordial  industrial  

relations

•



•Thank you



• Industrial  finance:

• There  are  two  major  dimensions 

• 1.The  sources  of finance

• 2. Effective  utilization



• A  business  firms  takes  decisions  on  

various issues  of  these  two  dimensions  

of  financing.  Such decisions  will  have  

widespread  ramifications      as  the  

activities  of  the  firm  are  interrelated  

and  finance  is  involved  in all  of  them.



• In making  the  choice  of  financing  the  
firm  will  examine  all   such  possible  
effects  of  the  decisions  on  its  
position  and  performance. There  will  
be  similar  effects  of  the  decisions  on  
its  position   and  performance. There  
will be  similar effects  of  utilization  
side  of  finances  on  the 



• performance of  the  firm.  A   firm  having  
greater proportion  of liquid  assets   in  its  
financial  structure  may  lose  profitability.  
On the  other  hand,  too much  fixed  assets   
may  lead  to  a  situation  when  the  firm  
experiences  shortage  of  working  assets  
due  to  poor  liquidity.  Considering  all  such  
possibilities ,  the  firm  has  to  maintain a 



• proper  balance  in  its  assets , uses  of  
funds  in  the  light  of   its  objectives. 
How  financial   decisions  are  made  for  
this  as  well  as  for   procurement  of  
finances  is  a  comprehensive  subject  
for  study  which  is  covered  under 
Business  finance  or  financial  
management. 



• The  need  for  finance:

• A  firm,  whether  it is  owned  by  n  
individual  proprietor  or  partners  or  
shareholders, undertakes  business  in  
anticipation  of  future  gain  or  return  
from  it.  For  setting  up  in  business  the  
firm   has  to  make  advance  expenditures  
before  it  receives  any  return.



• The  machines  are  to  be  

purchased,  the  factory  space  is  to  

be  purchased  or  leased,  raw  

materials  are  to  be  bought  and  

wages  and  salaries  are  to  be  paid  

to  the  employees  for  their  services.



• The  money  which  the  firm  
commits  on  its  business  is  
expected  to  come  back  to  the  
firm  in  the  form  of return  in  due  
course  of  time.  The  firm  has   to  
wait for  this.  A  farmer  ploughs  
and  shows  his  fields  months  
before  he  reaps  the  harvest. 



• A  transport  company   has  to  buy  trucks  

and  motors  and  pay  for  petrol,  labour, etc.,  

before  it  gets  paid  for  its haulage  services. 

Similarly,  a manufacturer  has  to  produce  

goods  before  he  can  sell  them.  In  some  

industries  goods are  sold  before  they  are  

made  but  even  in  such  industries         

•











• Tools of  productivity

• 1.use   o  scientific   management  

technique  and  practices.

• 2.work, time  and  motion  studies  for  

scientifically  determining  better  and  

quickers ways  of  doing  a  job.



• 3.developing   better  human  relations  including  

the  modern  concept  of   industrial  sickness  

between  the  employer  and  the  employee.

• 4.provision  of  wages  and  bonus  incentives, 

adoption  of  collective  bargaining,  management  

workers  consultations,  workers  participation  in  

management  training  of  workers  and  labour

welfare   schemes.



• 5.adoption of  standardization , 

specialization  and  simplification   

programes in  the  methods  of  

production.

• 6.adaption   of  control   techniques  

(including  production   and  planning  

control), cost control,  quality  control  at  

each  level.



• 7.improvement  in  working  

conditions, material  handling  and  

plant  layout etc.

• 8.selection  and  training  of  

personnel  at  the  various  levels  of  

management.



• Factors  influencing  industrial  productivity

• 1.Technical  factor:

• Technologically   innovation   plays  an  

important  role  in  affecting  productivity. The  

application   of  mechanical  power,  introduction  

of  highly  specialized  and  semi-automatic  and  

automatic  machines.



• More   efficient  co – ordination  and  

integration  of  productive  processes  

specialization  are  the  factors  which   

have  contributed  to  the  spectacular  

advances  in  raising  of  productivity.

•



• 2.Financial  factor:

• Finance  plays  a  dominating  role  in  

affecting  productivity.  Innovation  can  be  

possible  only  where   capital  is  available  in  

abundance. Adequacy  of   finance  would  help  

to  accelerate  the pace  of  industrial  

productivity  especially  where  labour is  scarce.



Sargent Florence’s Theory of 
Location: 



• Definition:

• Professor Sargent has followed the 
inductive method in formulating his 
theory of location. Sargent’s theory is 
more practical and realistic than that 
given by Weber. After properly 
analyzing statistical data, Sargent tried 
to ascertain the tendency of location of 
industries



• On the basis of production census he has 
tried to find out the statistical measures 
of location and has not accepted the 
traditional view of the geographical 
context, not the region or area as such 
but the working population in that area is 
more important. Sargent has used two 
new concepts in his theory of location. 

• Factors:



• On the basis of production census he has tried 
to find out the statistical measures of location 
and has not accepted the traditional view of 
the geographical context, not the region or 
area as such but the working population in 
that area is more important. Sargent has used 
two new concepts in his theory of location. 

• Factors:



• i) Location factor and 

• (ii) Coefficient of localization

• ) Location factor:

• Location factor indicates the centralization or 
otherwise of an industry. If the location factor index 
is greater than unity, there is a tendency of 
centralization; on the other hand, if it is less than 
unity, the otherwise is true. In case of unity, a state 
of evenness exists this indicates that there is 
neither centralization nor decentralization. 



The location 
factor index 
is calculated 
by using the 
following 
formula: 





• We take an example to explain the use 
of this formula. Suppose that the 
population of industrial workers in a 
country is 500; workers engaged in a 
given area is 200 and workers engaged 
in a particular industry (cement, etc.) 
are 100. 

• The location factor index will be 
calculated in the following manner: 



The index is greater than 1; therefore, the 
industry appears to be centralized in that area.



• ii. Coefficient of localization:
• Coefficient of localization indicates the 

propensity of concentration of industries. 
This has no relation as such with the 
area. If the percentage of workers over 
different areas is also given in 
percentage, the variance between the 
two percentages is divided by 100 which 
give the coefficient of location. 



• If this coefficient is zero, it will mean that 
industries are evenly distributed over all the 
areas; if the coefficient is unity or one, it 
indicates concentration of industries in one 
area. The coefficient being greater or less than 
unity will indicate tendency of centralization or 
decentralization respectively. 

• The coefficient of localization can be calculated 
in the following manner: 





• Take an example: 

• Suppose the percentage of 
workers in the area is 90 and 
those engaged in a particular 
industry is 60. The coefficient 
would be found out in this 
manner. 





• Since the coefficient of localization is 
less than unity or one, industries have a 
tendency of decentralization in that 
area. . Criticism of Sargent Florence’s Theory: 



• Criticism of Sargent Florence’s Theory: 
• 1. Ignorance of causes of location: 
• The theory tells only whether the industry is 

centralized or decentralised but does not give 
the causes of such a tendency. 

• 2. Difficulty of knowing propensity of 
localization: 

• It is difficult to know only on the basis of 
coefficient of localization whether there is 
propensity of centralization or decentralization. 



• 3. Ignorance of favourable local conditions: 
• The theory does not care for the favourable local 

factors influencing centralisation of industries. 
• 4. Absence of knowledge of productive capacity: 
• The theory given by Florence emphasizes the 

number of workers in calculating the index and 
coefficient but ignores production. It is difficult 
to know the productive capacity of different 
areas. In spite of these deficiencies the theory at 
least suggests a way to know the tendency of 
localisation of industries.



•Thank you



Structure of industrial labour;



•There are 4 structural sectors in industrial  
.labours

•1 craft union 

•2 industrial union 

•3 general union 

•4 federations 



• Craft unionism

•Craft unionism refers to a model of trade 
unionism in which workers are organised based 
on the particular craft or trade in which they 
work. It contrasts with industrial unionism, in 
which all workers in the same industry are 
organized into the same union, regardless of 
differences in skill.

https://en.wikipedia.org/wiki/Trade_union
https://en.wikipedia.org/wiki/Craft
https://en.wikipedia.org/wiki/Industrial_unionism
https://en.wikipedia.org/wiki/Skill


• Craft unionism is perhaps best exemplified by many of the 
construction unions that formed the backbone of the 
old American Federation of Labor (which later merged with 
the industrial unions of the Congress of Industrial 
Organizations to form the AFL–CIO). Under this approach, 
each union is organized according to the craft, or specific 
work function, of its members. For example, in the building 
trades, all carpenters belong to the carpenters' union, 
the plasterers join the plasterers' union, and 
the painters belong to the painters' union. Each craft union 
has its own 

https://en.wikipedia.org/wiki/American_Federation_of_Labor
https://en.wikipedia.org/wiki/Congress_of_Industrial_Organizations
https://en.wikipedia.org/wiki/AFL%E2%80%93CIO
https://en.wikipedia.org/wiki/United_Brotherhood_of_Carpenters_and_Joiners_of_America
https://en.wikipedia.org/wiki/Operative_Plasterers'_and_Cement_Masons'_International_Association
https://en.wikipedia.org/wiki/International_Union_of_Painters_and_Allied_Trades


•union, and the painters belong to the painters' 
union. Each craft union has its own administration, 
its own policies, its own collective bargaining 
agreements and its own union halls. The primary 
goal of craft unionism is the betterment of the 
members of the particular group and the 
reservation of job opportunities to members of the 
union and those workers allowed to seek work 
through the union's hiring hall.

https://en.wikipedia.org/wiki/International_Union_of_Painters_and_Allied_Trades
https://en.wikipedia.org/wiki/Collective_bargaining_agreement


• This distinction between craft and industrial unionism was 
a hotly contested issue in the first four decades of the 
twentieth century, as the craft unions that held sway in the 
American Federation of Labor sought to block other unions 
from organizing on an industrial basis in the steel and 
other mass production industries. The dispute ultimately 
led to the formation of the Congress of Industrial 
Organizations, which split from the AFL to establish itself as 
a rival organization. The distinction between craft and 
industrial unions persists today, but no longer has the 
political significance it once had.

https://en.wikipedia.org/wiki/Labor_federation_competition_in_the_U.S.
https://en.wikipedia.org/wiki/Mass_production


• Craft unionism has receded in many industries as a result of 
changes in technology, the concentration of ownership and 
jurisdictional conflicts between craft unions. Craft unionism 
has not, however, disappeared: it is still the norm in the 
airline industry, survives despite much upheaval in the 
construction industry, and even appears, in very muted 
form, in some mass production industries, such as 
automobile manufacturing, where skilled trades employees 
have pressed their own agendas within the union.[citation 

needed]

https://en.wikipedia.org/wiki/Wikipedia:Citation_needed


•Industrial union,

•trade union that combines all workers, both 
skilled and unskilled, who are employed in a 
particular industry. At the heart of 
industrial unionism is the slogan “one shop, 
one union.”

https://www.britannica.com/topic/trade-union
https://www.britannica.com/topic/organized-labor


•Today few unions are organized uniquely on 
a craft or industrial basis. Instead, large 
industrial unions may set up special 
divisions for particular occupational groups 
within their jurisdictions, and craft unions 
may become industrial as they organize 
additional nonskilled workers in new 
industries.



• •

• organized labour: Establishment of industrial unionism

• With the onset of the Great Depression in 1929, the balance of forces in the 
United States shifted dramatically. To begin with, national politics became more 
favourable to organized labour. Partly for ideological reasons, partly because of 
labour’s increasing influence on the Democratic…

organized labour: Breakup of the postwar settlement: Inflation, neocorporatism, 
and restructuring

• For this, industrial unions that could avail themselves of established systems of 
industrial democracy and codetermination seem to have been particularly well 
placed. Indeed, German and Scandinavian unions in particular may actually have 
contributed to the quality-competitive restructuring of their economies by, on 
the one hand, foreclosing…
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•

• organized labour: Breakup of the postwar settlement: Inflation, 
neocorporatism, and restructuring

• For this, industrial unions that could avail themselves of established 
systems of industrial democracy and codetermination seem to have 
been particularly well placed. Indeed, German and Scandinavian 
unions in particular may actually have contributed to the quality-
competitive restructuring of their economies by, on the one hand, 
foreclosing…



• •

•

• labour economics: Trade unions and bargaining areas
•…divide up until they form industrial unions each 

embracing all the manual workers in a given industry, 
as the Swedish unions have done, or to enter into 
confederations that provide all the unions having 
members in a given industry with a common front for 
the purpose of bargaining—the course followed…



•General Union

•The General Union is under the umbrella of 
the National Union of General Workers, which 
is itself part of the National Trade Union 
Council (Zenrokyo) one of the three major trade 
union federations in Japan.

https://en.wikipedia.org/wiki/National_Union_of_General_Workers
https://en.wikipedia.org/wiki/National_Trade_Union_Council_(Japan)
https://en.wikipedia.org/wiki/Labor_unions_in_Japan


•Structure of the union[edit]

•The general union consists of three main areas, 
the Industrial and Commercial Sector, 
the Schools and Colleges Sector, and the Private 
Language Industry Sector.

https://en.wikipedia.org/w/index.php?title=General_Union&action=edit&section=7


• Industrial and Commercial Sector[edit]
•This area of the GU is focused on workers in 
factories and other industrial employment. It 
consists of the General Branch, the South 
American Branch, and the Shinobu Foods 
Branch. The South American branch is currently 
active at many workplaces including Fuso and 
Daisen Kosakusho

https://en.wikipedia.org/w/index.php?title=General_Union&action=edit&section=8
https://en.wikipedia.org/wiki/Mitsubishi_Fuso_Truck_and_Bus_Corporation


• Schools and Colleges Sector[edit]

• This area of the GU is focused on workers employed 
in schools and universities. The GU has members at 
many workplaces, including Ashiya Gakuen High 
School,[8] Himeji Dokkyo University, Kansai Gaidai
University,[9] Kun'ei High School,[10] Osaka 
Gaigo,[11] Ritsumeikan University,[12] Kobe Shoin
Women's University,[13] and Osaka University.[14]

https://en.wikipedia.org/w/index.php?title=General_Union&action=edit&section=9
https://en.wikipedia.org/wiki/General_Union#cite_note-8
https://en.wikipedia.org/wiki/Himeji_Dokkyo_University
https://en.wikipedia.org/wiki/Kansai_Gaidai_University
https://en.wikipedia.org/wiki/General_Union#cite_note-9
https://en.wikipedia.org/wiki/General_Union#cite_note-10
https://en.wikipedia.org/wiki/General_Union#cite_note-11
https://en.wikipedia.org/wiki/Ritsumeikan_University
https://en.wikipedia.org/wiki/General_Union#cite_note-12
https://en.wikipedia.org/wiki/Kobe_Shoin_Women's_University
https://en.wikipedia.org/wiki/General_Union#cite_note-13
https://en.wikipedia.org/wiki/Osaka_University
https://en.wikipedia.org/wiki/General_Union#cite_note-14


•Private Language Industry[edit]

• This area of the GU is focused on the teaching of 
language in the private sector, including workers 
at eikaiwas and working as ALTs. Amongst other 
companies it has members at Berlitz 
Japan,[15] Interac,[16] Gaba,[17] Nova,[18] OTC, Epion,[19]

the British Council,[20] ECC,[21] Panasonic Excel 
International, Coco Juku[22] and Peppy Kids Club.[23]

https://en.wikipedia.org/w/index.php?title=General_Union&action=edit&section=10
https://en.wikipedia.org/wiki/Eikaiwa
https://en.wikipedia.org/wiki/Assistant_Language_Teacher
https://en.wikipedia.org/wiki/Berlitz_Japan
https://en.wikipedia.org/wiki/General_Union#cite_note-15
https://en.wikipedia.org/wiki/Interac_(Japan)
https://en.wikipedia.org/wiki/General_Union#cite_note-16
https://en.wikipedia.org/wiki/Gaba_Corporation
https://en.wikipedia.org/wiki/General_Union#cite_note-17
https://en.wikipedia.org/wiki/Nova_(eikaiwa)
https://en.wikipedia.org/wiki/General_Union#cite_note-18
https://en.wikipedia.org/wiki/Epion
https://en.wikipedia.org/wiki/General_Union#cite_note-19
https://en.wikipedia.org/wiki/British_Council
https://en.wikipedia.org/wiki/General_Union#cite_note-20
https://en.wikipedia.org/wiki/ECC_(eikaiwa)
https://en.wikipedia.org/wiki/General_Union#cite_note-21
https://en.wikipedia.org/wiki/Coco_Juku
https://en.wikipedia.org/wiki/General_Union#cite_note-22
https://en.wikipedia.org/wiki/Peppy_Kids_Club
https://en.wikipedia.org/wiki/General_Union#cite_note-23


•Berlitz branch[edit]
•The GU branch of Berlitz Japan was founded 
in 1993, and since that time has won a 
number of improvements for teachers 
including: Unemployment 
Insurance and Workers Accident 
Compensation Insurance enrollment for MG 

https://en.wikipedia.org/w/index.php?title=General_Union&action=edit&section=11
https://en.wikipedia.org/wiki/Berlitz_Japan
https://en.wikipedia.org/wiki/Unemployment_insurance_(Japan)
https://en.wikipedia.org/wiki/Workers'_Accident_Compensation_Insurance_(Japan)


• teachers. Health and Pension Insurance (shakai hoken) 
enrollment for those who work over 30 hours per week. 
Paid holidays for MG and per lesson teachers. Premium pay 
of 25% overtime and 35% for work on a set rest day. The 
right to refuse work on set rest days or national holidays. 
A pre-consultation agreement with the union before 
terminating, transferring or changing the working 
conditions of any union member. Resolving various 
grievances dealing with dismissals, health insurance, unfair 
treatment of teachers.[24]

• Coco Juku branch[edit]

https://en.wikipedia.org/wiki/Pre-consultation_Agreement_(Japan)
https://en.wikipedia.org/wiki/General_Union#cite_note-24
https://en.wikipedia.org/w/index.php?title=General_Union&action=edit&section=12


• Ffederation

• ederation of Indian Industry (FII), a not-for-profit
organization, is an advisory interface between the
Government and Industries. A creation of
Industrialist & Philanthropist, Mr.Deepak Jain, with
an objective to provide a structured and
comprehensive advise and information to Indian
Entrepreneurs, Foreign Investors and Government
on busine



• environment, prevalent laws, operational intricacies, 
and implementable solutions. FII offers a platform 
for networking and relationship building within and 
across the industrial sectors, polToday, the 
opportunities to expand internationally are better 
than they ever have been before. Conducting 
business globally has become an essential part of 
the overall strategy for many businesses. FII 
advices on vital information related to Government 
incentives, tax 



• laws, customs regulations, and cultural/ political/ 
business environment of the host One of our 
objectives is to help various State Governments 
by emphasizing the areas of business regulation 
that need attention; underlining a few 
unproductive, redundant, wasteful processes & 
laws already prevalent in the system and 
suggesting possible alteration in Laws & 
Processes for the progression and nurturing of 
the business-friendly envcountry.icy maFII is 
equipped to advise on multiple investment location 
options for a business project like, 



• special economic zones, country specific zones, industrial 

estates, etc. We are also enabling investors to overcome 
deferrals in getting licenses, company incorporation, land 
acquisition, The Global investors are watching India with a 
great interest after the launch of “Make in India” initiative by the 
Indian Prime Minister, Shri Narendra Modi. At FII, we advise and 
extend our assistance to ensure a smooth sailing for the 
Government /Companies across the globe to make investment 
and set up factories and expand their facilities in India.and other 
necessary procedures & approvals.kers, and the International business 
fraternity.



•Thank you



Weber’s Theory of Location of 
Industries



• this theory is based on the ‘least cost 
principle’ which is used to account for 
location of a manufacturing industry. The 
theory is based upon a single, isolated 
country with homogeneous conditions. Some 
of the natural resources in this setting are 
found everywhere, while some have fixed 
locations



• The workforce has fixed locations. 
Transportation costs, in this situation, are a 
function of cargo weight and the distance. 
Demand is uniform throughout for all 
products, hence, there is uniform price for all 
products at all locations. The theory claims 
that the costs will get influenced by 
transportation costs, labour costs and by the 
agglomeration factor.



• Role of Transportation Costs: 

• 1. A one market, one raw material condition 
gives rise to three situations.

• i) Raw Material Available Everywhere: 

• The best location in this situation is the 
market, as that will simply eliminate the 
transportation costs for the manufacturing 
unit.



• (ii) Raw Material Fixed, And Pure: 

• The manufacturing unit, in this case, should 
be located either at the market or at the 
source.

• (iii) Raw Material Fixed And Gross (I.E. It 
Loses Weight On Processing The best location 
will be at source.

The best location will be at source.



• 2. A one market, two raw materials (R1, R2) 
condition gives rise to four situations.

• (i) Both R1 and R2 are found everywhere: 
here, the best location will be at the market, 
as in that case, lowest transportation costs 
would prevail.



• (ii) R1 is fixed, R2 is found everywhere, both 
are pure: the best location would be at the 
market, because then, transportation charges 
for R1 only will have to be paid.

• (iii) Both R1and R2 are fixed and pure: the 
best location will be at the market, because 
in that case lowest aggregate transportation 
charges will prevail.



–(iv) Both R1 and R2 are fixed and 
gross: this is a complex situation, 
for which Weber introduced the 
“locational triangle”. Two raw 
materials—R, and R2—and 
market (M) form 



• the three modes of this triangle. The 
transportation charges are a product of the 
cargo weight and the distance carried by 
transportation. Thus, a pull is being exerted 
on the location by each of these three 
modes. It is seen that the weight-losing 
manufacturing processes like iron smelting 
tend to be located near the source of raw 
materials, while the weight-gaining ones like 
baking tend to be located near the market 
(Fig. 10.25).



• Role of Labour Costs To determine the role of 
locational pattern of labour force on manufacturing 
location, Weber’s locational triangle is placed in 
concentric pattern of rising transportation costs 
outwards from the centre (Fig. 10.25). It is assumed 
that the labour force is dispersed outwards and the 
distance from the centre represents savings on 
account of labour costs decrease and a point (L) 
comes where the savings on labour cost overcome 

the handicap of rising 



• transportation costs. This is a more profitable 
location than ‘F which is the lowest 
transportation cost location.

• Role of Agglomeration: 

• The coming together or agglomeration of 
industries offers cuts in production costs if 
two or more industries operate in the same 
location (Fig. 10.25).









• Figure 1 shows the situation in which the 
processing plant is located somewhere 
between the source and the market. The 
increase in transport cost to the left of the 
processing plant is the cost of transporting 
the raw material from its source. The rise in 
the transportation cost to the right of the 
processing plant is the cost of transporting 
the final product. Note the line on the left of 
the processing plant has a steeper slope than 
the one on the right. 



• Figure 2 shows the situation if the processing 
plant is moved closer to the source of raw 
material. Note that the transport cost of the 
final product delivered to the market is lower 
than in the previous location. The 
transportation cost for the product delivered 
to the market will be lowest of all if the 
processing plant is located at the source of 
the raw material, as shown in Figure 3.









• The weight gaining case is illustrated in 
Figures 4, 5 and 6. The optimal location of the 
processing plant in this case is at the market. 
Weber established that firms producing 
goods less bulky than the raw materials used 
in their production would settle near to the 
raw-material source. Firms producing heavier 
goods would settle near their market. The 
firm minimizes the weight it has to transport 
and, thus, its transport costs. 



•Thank you


